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QUESTION 1

Given the VITALS data set:

PATID VISIT FULSE STSHP DIABP
141 ek 1 &0 1i8 T2
141 Heek 2 &0 11z T2
141 Week 3 66 108 Tz
141 ek 4 76 116 TG
218 ek 1 87 130 T3
21 leek 2 i -] 118 659
218 Wesk 3 91 127 79
218 leek 4 71 119 T6

Which program was used o transpose the data set into the following structure?

PATID  VISIT NAME  LABEL coL1
141 Week 1 PLL3E Pulae a0
141 Week 1 SYSEP Systolic BP 118
141 feek 1 DIARP Diaatolic BP T2
141 Week 2 PLLSE Pulas G0
141 Week 2 SYSPP dystolic BP 112
141 eelk 2 DIABP Diastolic BP T2
LT Taal 3 PLLEE Pulae E5
141 Meslk 3 SIZEP Systolic BP iog
141 Weslr 3 DIABP Diamtolic BP T2
141 Week 4  PILSE Pulse 76

A. proc transpose data=vitals ; var pulse sysbp diabp ; run;
B. proc transpose data=vitals ; by patid visit ; run ;

C. proc transpose data=vitals ; var patid visit ;

run;

D. proc transpose data=vitals ; id patid visit ; run ;

Correct Answer: B

QUESTION 2

The following SAS program is submitted, but fails due to syntax errors.

data WORKE.TOTALEXPEND (kesp=NonthExp{la}):
set WORK.HONTHLYEXPEND (keep=Year Drug Disp):
array MonthExp{lZ};
do 1=1 to 12;
HonthExpii}=Di=p;
end;
drop 1;
Cun;
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What is the cause of the syntax errors?

A. The keep= data set option should be (keep=MonthExp*).

B. An array can only be referenced in a KEEP statement and not within a keep= data set option.
C. An array cannot be referenced on a keep= data set option.

D. The keep= data set option should be (keep=MonthExp).

Correct Answer: C

QUESTION 3

You want to calculate the p-value of Fisher\\'s exact test for a 3x3 table. Which option must you add to the TABLES
statement of PROC FREQ?

A. CHISQ
B. CMH

C. EXACT

D. EXPECTED

Correct Answer: C

QUESTION 4

Which name is a valid SAS V5 variable name?
A. _AESTDTC

B. AESTARTDTC

C. AE-STDTC

D. AE_START_DTC

Correct Answer: A

QUESTION 5

The following SAS program is submitted:
%let Av=age;

%macro LABD(Av=weight);

%let Av=gend; %mend;

A00-280 VCE Dumps | A00-280 Practice Test | AO0-280 Exam Questions 3/4


https://www.pass2lead.com/a00-280.html
https://www.pass2lead.com/a00-280.html
https://www.pass2lead.com/a00-280.html

P 2L d https://lwww.pass2lead.com/a00-280.html
ass ea 2024 Latest pass2lead A00-280 PDF and VCE dumps Download

—— https://Pass2Lead.com

%LABD(Av=height)

%put Av is andAv;

What will be written to the SAS log?
A. Av is weight

B. Av is gend

C. Av is height

D. Av is age

Correct Answer: D
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